run_13091020 FGT_ADC 1,Timebin=2,Disc=1,asmb=1DA
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run_13091020 FGT_MPV_1,Timebin=2,Disc=1,asmb=1DA
Sat Mar 31 12:03:14 2012
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run_13091020 FGT_RMS 1,Timebin=2,Disc=1,asmb=1DA
Sat Mar 31 12:03:48 2012
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run_13091020 FGT_ADC 1,Timebin=2,Disc=1,asmb=1DA

Sat Mar 31 12:01:08 2012
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run_13091020 FGT_MPV_1,Timebin=2,Disc=1,asmb=1DA
Sat Mar 31 12:03:15 2012

[ADC MPV for RDO=1ARM=0,APV=5__}

MPV (ADC-ped)

. . ;
-500 Q 20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=0,APV=6 }

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=0,APV=7 }

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

; ; :
€Y 20 0 50 80 100 120

APV channel

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=0,APV=9 "}

1500 |+

MPV (ADC-ped)

1000 [+

500 [+

ool
Q 20 a0 0 a0 100 120
APV channel




run_13091020 FGT_RMS 1,Timebin=2,Disc=1,asmb=1DA
Sat Mar 31 12:03:50 2012
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run_13091020 FGT_ADC_1,Timebin=2,Disc=1,asmb=1AB

Sat Mar 31 12:01:12 2012
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run_13091020 FGT_MPV_1,Timebin=2,Disc=1,asmb=1AB
Sat Mar 31 12:03:17 2012
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run_13091020 FGT_RMS 1, Timebin=2,Disc=1,asmb=1AB
Sat Mar 31 12:03:51 2012
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run_13091020 FGT_ADC_1,Timebin=2,Disc=1,asmb=1AB

Sat Mar 31 12:01:17 2012

ADC for FGT RDO=1ARM=0,APV=17 _§

1000 2000 3000 4000

raw ADC

ADC for FGT RDO=1ARM=0APV=18 _§

C-ped

HAD
3

1000 2000 3000 4000

raw ADC

[ ADC for FGT RDO=1.ARM=0.APV=19 |
—

= ADC-ped

15}

1000 2000 3000 40(

raw ADC

[[ADC for FGT RDO=1,ARM=0,APV=20 |
o
3
[
9]
a
<
10°
10
0 1000 2000 3000 4000
raw ADC
ADC for FGT RDO=1,ARM=0,APV=21__§
o
3
[
%)
a
0
10

0 1000

2000 3000 4000

raw ADC

[[ADC for FGT RDO=1,ARM=0,APV=17_J

= 4000 p—
] =
& =

Q 3500 f=——
< =

3000 f=—
=

2500 f=—
=

2000 f=——
=

1500 f=——

1000 f=——
=
=

500 p=—
=
=

ofE—

= i i i i i i
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=0,APV=18 "}

= 4000 p—
5] = . . H 5 5 g
5 =
8 3500 f=——
< =
3000 f=—
2500 fm—
2000 fm/——
=
1500 f=—
=
1000 f=——
=
500 f—
=
0=
E_. . . i . . . i . . . i . . . i . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=0,APV=19 }

- 4000 p—=
] = . . . . . .
g = 2 2 2 2 2 2
Q 3500 =t - - - - -
< =
3000 - - - - - - -
=
2500 = - - - - - - -
=
2000 = =0
=
1500 f=—-------
1000 f=—-------
=
500 = e - - - e e
=
() = T
=
APV channel
[[ADC for FGT RDO=1,ARM=0,APV=20 }
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
I T :
= 2
= 2
500 e s e eee .
= 2
Of—mrrmm e 2
= :
= 1
0 20

APV channel

[ ADC for FGT RDO=1,ARM=0,APV=21 }
4000

3500

ADC-ped

3000

2500

2000

1500

1000
500

0

APV channel

.. 8 . O, L LA

10°

10°

10

10

10

10




run_13091020 FGT_MPV_1,Timebin=2,Disc=1,asmb=1AB
Sat Mar 31 12:03:18 2012
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run_13091020 FGT_RMS 1,Timebin=2,Disc=1,asmb=1AB
Sat Mar 31 12:03:52 2012
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run_13091020 FGT_ADC 1,Timebin=2,Disc=2,asmb=2DA
Sat Mar 31 12:01:21 2012
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run_13091020 FGT_MPV_1,Timebin=2,Disc=2,asmb=2DA
Sat Mar 31 12:03:19 2012
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run_13091020 FGT_RMS_ 1,Timebin=2,Disc=2,asmb=2DA
Sat Mar 31 12:03:53 2012
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run_13091020 FGT_ADC 1,Timebin=2,Disc=2,asmb=2DA
Sat Mar 31 12:01:25 2012
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run_13091020 FGT_RMS_ 1,Timebin=2,Disc=2,asmb=2DA
Sat Mar 31 12:03:55 2012
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run_13091020 FGT_ADC_1,Timebin=2,Disc=2,asmb=2AB
Sat Mar 31 12:01:26 2012
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run_13091020 FGT_MPV_1,Timebin=2,Disc=2,asmb=2AB
Sat Mar 31 12:03:20 2012

[ADC MPV for RDO=1ARM=LAPV=12_}

MPV (ADC-ped)

-500

. . ; ;
Q 20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=1,APV=13 "}

MPV (ADC-ped)

[
1500 |+

1000 [+

-500

i
120
APV channel

[ ADC MPV for RDO=1,ARM=1,APV=14 "}

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

i i i i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

APV channel

[ ADC MPV for RDO=1,ARM=1,APV=16 }

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

1 " " " 1 " " " 1 " " " 1 " " " Il " " " Il
20 a0 0 a0 100 120
APV channel




run_13091020 FGT_RMS 1, Timebin=2,Disc=2,asmb=2AB
Sat Mar 31 12:03:55 2012
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run_13091020 FGT_ADC_1,Timebin=2,Disc=2,asmb=2AB
Sat Mar 31 12:01:30 2012
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run_13091020 FGT_MPV_1,Timebin=2,Disc=2,asmb=2AB
Sat Mar 31 12:03:22 2012
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run_13091020 FGT_RMS 1, Timebin=2,Disc=2,asmb=2AB
Sat Mar 31 12:03:56 2012
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run_13091020 FGT_ADC 1,Timebin=2,Disc=3,asmb=3DA

Sat Mar 31 12:01:34 2012

[ADC for FGT RDO=1,ARM=2,APV=0 }

C-ped

HAD!
)

[ 1000 2000 3000 4000

raw ADC

[ADC for FGT RDO=1,ARM=2,APV=1 }

= ADC-ped

15}

0 1000 2000 3000 4000

raw ADC

[ADC for FGT RDO=LARM=2,APV=2 }

= ADC-ped

15}

0 1000 2000 3000 4000

raw ADC

[ADC for FGT RDO=1,ARM=2,APV=3 }

ADC-ped

o
=3

0 1000 2000 3000 4000

raw ADC

ADC for FGT RDO=1,ARM=2,APV=4 l

= ADC-ped

=)

0 1000

2000 3000 4000

raw ADC

[ ADC for FGT RDO=1,ARM=2,APV=0

4000

° = 10
] = .
o = :
Q 3500 f=—|- </~ {-t-f---- EEEE B R £ PR R | R E T
< =
3000 P=f—|- <= {-t-f---- R L Rl EEL L EE R
=
P = o EEERER S RERER e R R e R R EL LR 1
= 8
2000 f=—|- <~ {-t-f---- e R Rl EEL LR e L EE EELLELE
= i
1500 |- [« 4=t < p -~ - B B ] e e R
1000 P=t—|- A= 41 -f - - - 1 EFEE B BUEEE £ EPE PR | DEEEEEE PR PR 10
= 8
= 8
500 pet—|- (- 4=t} o-n- caol|ollsposdllsllocalsascosdsclboscasss
= 2 8
= . 2
()= o EEEEERES SRR B B e e | et S
= i i i i i i 102
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=2,APV=1

4000

3500

ADC-ped

3000

2500

2000

1000

500

0

10

rm
ke
=
=
=
=
rm:
1500 [
=
rm:
=
=
o
=
=
0

[ ADC for FGT RDO=1,ARM=2,APV=2

4000

" 1
80 100 120
APV channel

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

aEldENATERIAGNATGRAARNATGRARRIATENATRNATENAG]

10

[ ADC for FGT RDO=1,ARM=2,APV=3

4000

80 100 120
APV channel

il

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

10°

© T TR AT TR T

[ ADC for FGT RDO=1,ARM=2,APV=4

4000

80 100 120
APV channel

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

10°

° R A A A

APV channel




run_13091020 FGT_MPV_1,Timebin=2,Disc=3,asmb=3DA
Sat Mar 31 12:03:23 2012
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run_13091020 FGT_RMS 1,Timebin=2,Disc=3,asmb=3DA
Sat Mar 31 12:03:58 2012

[CADC RMS for RDO=1,ARM=2,APV=0__J

RMS (ADC-ped)

220
200 P=
180 :
160 =
140 B
120

100

80

60

40

20

- INICERICERICENICENIRE g

i i
100 120

0

APV channel

[ ADC RMS for RDO=1,ARM=2,APV=1 "}

RMS (ADC-ped)

L e e o LT e EL T o LT P

200 ¢
150 [+
100 |

50 |-

1
120
APV channel

[ ADC RMS for RDO=1,ARM=2,APV=2 "}

RMS (ADC-ped)

250 f—

200

150

100

50

i
120

SFFTHTITTT HI1'|'I'HI|11"I"HH

APV channel

[CADC RMS for RDO=1ARM=2,APV=3__}

RMS (ADC-ped)

250 f—
—
—

200 p—
—

150 f——

100

50

I'_l

CEEEHTETTTTTT

APV channel

[ ADC RMS for RDO=1,ARM=2,APV=4 "}

RMS (ADC-ped)

250 [F
200
150 [+
100 :

50 [r

120
APV channel




run_13091020 FGT_ADC 1,Timebin=2,Disc=3,asmb=3DA

Sat Mar 31 12:01:39 2012
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run_13091020 FGT_MPV_1,Timebin=2,Disc=3,asmb=3DA
Sat Mar 31 12:03:24 2012
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run_13091020 FGT_RMS 1,Timebin=2,Disc=3,asmb=3DA
Sat Mar 31 12:03:59 2012
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run_13091020 FGT_ADC_1,Timebin=2,Disc=3,asmb=3AB
Sat Mar 31 12:01:43 2012
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run_13091020 FGT_MPV_1,Timebin=2,Disc=3,asmb=3AB

Sat Mar 31 12:03:25 2012
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run_13091020 FGT_RMS 1,Timebin=2,Disc=3,asmb=3AB
Sat Mar 31 12:04:00 2012
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run_13091020 FGT_ADC_1,Timebin=2,Disc=3,asmb=3AB

Sat Mar 31 12:01:44 2012
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run_13091020 FGT_MPV_1,Timebin=2,Disc=3,asmb=3AB
Sat Mar 31 12:03:25 2012
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run_13091020 FGT_RMS 1,Timebin=2,Disc=3,asmb=3AB

Sat Mar 31 12:04:00 2012
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run_13091020 FGT_ADC 1,Timebin=2,Disc=4,asmb=4DA

Sat Mar 31 12:01:48 2012
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run_13091020 FGT_MPV_1,Timebin=2,Disc=4,asmb=4DA

Sat Mar 31 12:03:27 2012
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run_13091020 FGT_RMS_ 1,Timebin=2,Disc=4,asmb=4DA
Sat Mar 31 12:04:01 2012
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run_13091020 FGT_ADC 1,Timebin=2,Disc=4,asmb=4DA

Sat Mar 31 12:01:50 2012
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run_13091020 FGT_MPV_1,Timebin=2,Disc=4,asmb=4DA
Sat Mar 31 12:03:27 2012
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run_13091020 FGT_RMS_ 1,Timebin=2,Disc=4,asmb=4DA
Sat Mar 31 12:04:01 2012
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run_13091020 FGT_ADC_1,Timebin=2,Disc=4,asmb=4AB

Sat Mar 31 12:01:54 2012
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run_13091020 FGT_MPV_1,Timebin=2,Disc=4,asmb=4AB
Sat Mar 31 12:03:28 2012
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run_13091020 FGT_RMS 1, Timebin=2,Disc=4,asmb=4AB
Sat Mar 31 12:04:02 2012
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run_13091020 FGT_ADC_1,Timebin=2,Disc=4,asmb=4AB
Sat Mar 31 12:01:58 2012
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run_13091020 FGT_MPV_1,Timebin=2,Disc=4,asmb=4AB

Sat Mar 31 12:03:29 2012
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run_13091020 FGT_RMS 1, Timebin=2,Disc=4,asmb=4AB
Sat Mar 31 12:04:03 2012
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run_13091020 FGT_ADC 1,Timebin=2,Disc=5,asmb=5DA
Sat Mar 31 12:01:59 2012
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run_13091020 FGT_MPV_1,Timebin=2,Disc=5,asmb=5DA
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run_13091020 FGT_RMS_ 1,Timebin=2,Disc=5,asmb=5DA
Sat Mar 31 12:04:04 2012
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run_13091020 FGT_ADC_1,Timebin=2,Disc=5,asmb=5AB
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run_13091020 FGT_MPV_1,Timebin=2,Disc=5,asmb=5AB
Sat Mar 31 12:03:30 2012

[ADC MPV for RDO=1ARM=4,APV=12_}

MPV (ADC-ped)

1500 [+

1000 [5

APV channel

[ ADC MPV for RDO=1,ARM=4,APV=13 "}

MPV (ADC-ped)

—
1500 [
1000 [+

500 |+

-500

APV channel

[ ADC MPV for RDO=1,ARM=4,APV=14 "}

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

i i i i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

i
20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=4,APV=16 }

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

1 " " " 1 " " " 1 " " " 1 " " " 1 " " " Il " " " Il
Q 20 a0 0 a0 100 120
APV channel




run_13091020 FGT_RMS 1, Timebin=2,Disc=5,asmb=5AB
Sat Mar 31 12:04:04 2012
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run_13091020 FGT_ADC_1,Timebin=2,Disc=5,asmb=5AB
Sat Mar 31 12:02:09 2012
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run_13091020 FGT_MPV_1,Timebin=2,Disc=5,asmb=5AB
Sat Mar 31 12:03:31 2012
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run_13091020 FGT_RMS 1, Timebin=2,Disc=5,asmb=5AB
Sat Mar 31 12:04:06 2012
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run_13091020 FGT_ADC _1,Timebin=2,Disc=1,asmb=1BC

Sat Mar 31 12:02:13 2012

[ADC for FGT RDO=2,ARM=0,APV=0 }

C-ped

HAD(
3

2000

[ADC for FGT RDO=2,ARM=0,APV=1 }

3000

raw ADC

= ADC-ped

15}

i
2000

[ADC for FGT RDO=2,ARM=0,APV=2 }

3000 4000

raw ADC

C-ped

= AD!
15}

1000 2000

[ADC for FGT RDO=2,ARM=0,APV=3 }

3000 40(

raw ADC

1000 2000

ADC for FGT RDO=2,ARM=0,APV=4 l

3000

4000
raw ADC

= ADC-ped

=)

0 1000

2000

3000 4000

raw ADC

4000

[ADC for FGT RDO=2,ARM=0,APV=0_}

= 4000 p—
] =
& =

Q 3500 f—
< =

3000 P=—
=

2500 =
=

2000 =
=

1500 =

1000 =
=
=

500 =
=
=

0=

= i i i i i i
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=2,ARM=0,APV=1 "}
= 4000 p—
] = . . . . .
5 =
8 3500 = ---{{--f}-F|-1--
< =
3000 P=—---{{--f}-}|-1--
2500 - - - {{-- -} |- -1--
=
2000 = ---{1--}f-F|--1--
=
1500 === 4=t} - 1= -
=
1000 f=—---{{--tp-F |- 1--
=
500 ==~ {{--tf-I -1
=
oA~ tF=r | -1
= . . . . i . . . i . . . i . . . i . . i
0 2 40 60 80 100 120
APV channel

[ ADC for FGT RDO=2,ARM=0,APV=2 "}

- 4000 p—=
] = . . . . . .
g = 2 2 2 2 2 2
Q 3500 f=—
% =
3000 f=—
=
2500 =
=
2000 =
=
1500 f=——
1000 fP=——
=
500 f=—
=
d==
= i i i i i i
20 20 60 80 100 120
APV channel
[ADC for FGT RDO=2,ARM=0,APV=3 }
- 4000 p—
5] = . . .
e = .
Q 3500 F=
< =
3000 =
2500 =
2000 f=
=
1500 =
1000 p=
=
=
500 =
=
0=
=
=
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=2,ARM=0,APV=4 "}
4000

3500

ADC-ped

3000

2500

2000

1500

1000
500

0

APV channel

... 2 E.d e  Ed i

10

10

10°

10

10

10"




run_13091020 FGT_MPV_1,Timebin=2,Disc=1,asmb=1BC
Sat Mar 31 12:03:33 2012
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run_13091020 FGT_RMS 1,Timebin=2,Disc=1,asmb=1BC
Sat Mar 31 12:04:07 2012
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run_13091020 FGT_ADC _1,Timebin=2,Disc=1,asmb=1BC

Sat Mar 31 12:02:17 2012
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run_13091020 FGT_MPV_1,Timebin=2,Disc=1,asmb=1BC
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run_13091020 FGT_RMS 1,Timebin=2,Disc=1,asmb=1BC
Sat Mar 31 12:04:08 2012
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run_13091020 FGT_ADC 1,Timebin=2,Disc=1,asmb=1CD
Sat Mar 31 12:02:21 2012
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run_13091020 FGT_MPV_1,Timebin=2,Disc=1,asmb=1CD

Sat Mar 31 12:03:35 2012
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run_13091020 FGT_RMS 1,Timebin=2,Disc=1,asmb=1CD
Sat Mar 31 12:04:09 2012
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run_13091020 FGT_ADC 1,Timebin=2,Disc=1,asmb=1CD

Sat Mar 31 12:02:25 2012

ADC for FGT RDO=2,ARM=0,APV=17 _§

= AD
Q

C-ped

1000

2000 3000 4000

raw ADC

ADC for FGT RDO=2,ARM=0APV=18 §

o
3
[
%)
a
<
10°
0 1000 2000 3000 4000
raw ADC
[_Aocrorrer roo-2ARM=0APV-19 ]}
o
3
[
19)
a
<

1000

2000 3000 40(

raw ADC

ADC for FGT RDO=2,ARM=0,APV=20

= AD
15}

C-ped

0 1000

2000 3000 4000

raw ADC

ADC for FGT RDO=2,ARM=0,APV=21 _§

énoped

0 1000

2000 3000 4000

raw ADC

[[ADC for FGT RDO=2,ARM=0,APV=17 }
= 4000 p—
] = . . . . . .
i =
Q 3500 s s s s e
< =
5000] =L LELELECEELELE
=
2500) =L EEELLELELEL
=
2000 f=——
=
1500 f=——
1000 f=——
=
50 |==5c5050505050a0
=
=
) == R
= i i i i i i
0 20 40 60 80 100 120
APV channel
[ ADC for FGT RDO=2,ARM=0,APV=18 "}
= 4000 p—
g = :
9 3500 === - - - -1t
< = H
3000 f=— - - - - - o|p=odegescecssscaes -1t-
2500 = +|- - - - - B R EE TP -1t-
=
2000 = - - - - - B T -1t -
= o
1500 f=r— |- - - - - -1t-
= 5
1000 = +{- - - - - R -1t
= 8
500 = -tk LI EHIE
= 8
0 f=—----- I e R -1t-
= . . i . . . i . . . i . . . i . . . i . . i
0 20 40 60 80 100 120
APV channel
[ ADC for FGT RDO=2,ARM=0,APV=19 }
= 4000 p=
] = . . . . . .
2 = 8 8 8 8 8 2
Q 3500 f=—
< =
3000 f=—
=
2500 =
=
2000 =
=
1500 f=——
1000 fP=——
=
500 f=—
=
d =
= i i i i i i
20 40 60 80 100 120
APV channel
[[ADC for FGT RDO=2,ARM=0,APV=20 }
= 4000 p—
] = . .
& =
Q 3500 f=—| e
< =
3000 - === seleee
2500 = P
2000 f=—y- === - - - B R
=
1500 f=—| e
1000 p=—|- - - - - - - sefee-
=
=
500 p=—ry------- e
=
o e B e wmn
=
=
0 20 40 60 80 100 120
APV channel
| ADC for FGT RDO=2,ARM=0,APV=21 .
= 4000
]
&
Q 3500
<

3000

2500

2000

1500

1000

500

0

APV channel

... 8 ... o . E LA

107

10

10

10°

10

10°

10

10"




run_13091020 FGT_MPV_1,Timebin=2,Disc=1,asmb=1CD
Sat Mar 31 12:03:36 2012
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run_13091020 FGT_RMS 1,Timebin=2,Disc=1,asmb=1CD

Sat Mar 31 12:04:10 2012
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run_13091020 FGT_ADC _1,Timebin=2,Disc=2,asmb=2BC
Sat Mar 31 12:02:29 2012
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run_13091020 FGT_RMS 1,Timebin=2,Disc=2,asmb=2BC
Sat Mar 31 12:04:11 2012
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run_13091020 FGT_ADC _1,Timebin=2,Disc=2,asmb=2BC

Sat Mar 31 12:02:30 2012
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run_13091020 FGT_MPV_1,Timebin=2,Disc=2,asmb=2BC
Sat Mar 31 12:03:37 2012
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run_13091020 FGT_RMS 1,Timebin=2,Disc=2,asmb=2BC
Sat Mar 31 12:04:11 2012
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run_13091020 FGT_ADC _1,Timebin=2,Disc=2,asmb=2CD
Sat Mar 31 12:02:34 2012
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run_13091020 FGT_MPV_1,Timebin=2,Disc=2,asmb=2CD
Sat Mar 31 12:03:39 2012
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run_13091020 FGT_ADC _1,Timebin=2,Disc=2,asmb=2CD
Sat Mar 31 12:02:38 2012
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Sat Mar 31 12:03:41 2012

[ADC MPV for RDO=2,ARM=2,APV=12_}

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=2,ARM=2,APV=13 "}

MPV (ADC-ped)

—
1500 [
1000 [+

500 |+

-500

APV channel

[ ADC MPV for RDO=2,ARM=2,APV=14 |

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

i
Q 20, 40 60, 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=2,APV=16 }

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

APV channel




run_13091020 FGT_RMS 1,Timebin=2,Disc=3,asmb=3CD
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run_13091020 FGT_MPV_1,Timebin=2,Disc=4,asmb=4BC
Sat Mar 31 12:03:44 2012
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run_13091020 FGT_RMS 1,Timebin=2,Disc=4,asmb=4BC
Sat Mar 31 12:04:17 2012
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run_13091020 FGT_ADC _1,Timebin=2,Disc=4,asmb=4BC

Sat Mar 31 12:02:57 2012
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run_13091020 FGT_MPV_1,Timebin=2,Disc=4,asmb=4BC
Sat Mar 31 12:03:45 2012
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run_13091020 FGT_RMS 1,Timebin=2,Disc=4,asmb=4BC
Sat Mar 31 12:04:18 2012
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run_13091020 FGT_ADC _1,Timebin=2,Disc=4,asmb=4CD
Sat Mar 31 12:03:01 2012
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run_13091020 FGT_MPV_1,Timebin=2,Disc=4,asmb=4CD

Sat Mar 31 12:03:46 2012
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run_13091020 FGT_RMS 1, Timebin=2,Disc=4,asmb=4CD
Sat Mar 31 12:04:19 2012
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run_13091020 FGT_ADC _1,Timebin=2,Disc=4,asmb=4CD

Sat Mar 31 12:03:02 2012
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run_13091020 FGT_MPV_1,Timebin=2,Disc=4,asmb=4CD
Sat Mar 31 12:03:46 2012
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run_13091020 FGT_RMS 1, Timebin=2,Disc=4,asmb=4CD
Sat Mar 31 12:04:19 2012
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run_13091020 FGT_ADC _1,Timebin=2,Disc=5,asmb=5BC
Sat Mar 31 12:03:06 2012
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run_13091020 FGT_RMS 1,Timebin=2,Disc=5,asmb=5BC
Sat Mar 31 12:04:21 2012
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run_13091020 FGT_ADC _1,Timebin=2,Disc=5,asmb=5BC

Sat Mar 31 12:03:08 2012
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run_13091020 FGT_MPV_1,Timebin=2,Disc=5,asmb=5BC

Sat Mar 31 12:03:47 2012
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run_13091020 FGT_RMS 1,Timebin=2,Disc=5,asmb=5BC
Sat Mar 31 12:04:21 2012
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run_13091020 FGT_ADC _1,Timebin=2,Disc=5,asmb=5CD
Sat Mar 31 12:03:12 2012
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run_13091020 FGT_MPV_1,Timebin=2,Disc=5,asmb=5CD

Sat Mar 31 12:03:48 2012
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run_13091020 FGT_RMS 1, Timebin=2,Disc=5,asmb=5CD
Sat Mar 31 12:04:22 2012
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